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Passage A

Almost every family buys at least one copy of a newspa-
per every day. Some people subscribe to as many as two or
three different newspapers. But why do people read newspa-
pers?

Five hundred years ago, news of important happenings
— battles lost and won, kings or rulers overthrown or killed
— took months and even years to travel from one country to
another. The news passed by word of mouth and was never
accurate. Today we can read in our newspapers of important
events that occur in faraway countries on the same day they
happen.

Apart from supplying news from all over the world,
newspapers give us a lot of other useful information. There
are weather reports, radio, television and film guides, book
reviews, stories, and, of course, advertisements. There are
all sorts of advertisements. The bigger ones are put in by
large companies to bring attention to their products. They
pay the newspapers thousands of dollars for the advertising
space, but it is worth the money for news of their products

goes into almost every home in the country. For those who
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produce newspapers, advertisements are also very impor-
tant. Money earned from advertisements makes it possible
for them to sell their newspapers at a low price and still
make a profit.

Newspapers often have information on gardening,
cookery and fashion, as well as a small but very popular sec-
tion on jokes and cartoons.

1. The habit of reading newspapers is .
\A) widespread
B‘) not popular
C) found among a few families
D) uncommon
2. In the past, news was .
A) sent by telegraph
B) sent by letter
C) sent by telephone
~D) passed from one person to another
3. The money spent on advertisements is
A) wasted ‘B) worthwhile
C) not much D) of no use to anyone
4. Which of the following statements is NOT true?
.A) Five hundred years ago news did not take a long time
i to reach other countries.
B) Large companies put big advertisements in the news-

papers because they want to draw people’s attention
to their products.
« 2.



C) The news that we need in our newspapers is up-to-
date.

D) Though the newspapers are sold at a low price, peo-
ple still gain profit.

5. Some people subscribe to as many as two or three differ-
ent newspapers. Here the phrase “subscribe to” means
A) contribute to

-B) write to
C) agree to buy for a specified time

D) appreciate

Passage B

The summer of 1986 was a time of crisis for many farm-
ers in the United States. A variety of circumstances com-
bined to create major problems for them.

During the early part of the decade, crop prices had be-
gun to decrease. Farmers had been producing enormous
quantities of crops, and inside the United States, their
products had become too plentiful, causing the prices to
fall. At the same time, prices for fertilizers rose. This com-
bination of factors had decreased the prosperity of many
farmers by 1986.

However, the real crisis for the farmers in that year

was caused by the weather. Farms in the southeastern part
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of the country received no rain during the spring and the
first two months of the summer. Even, yearly rainfalls are
usually one of the resources of the southeast, and, there-
fore, most of the farms did not have adequate irrigation sys-
tems. As the grass in their pastures became dry and brown
in late July, the southeastern farmers realized that they
might lose most of their herds and go out of business.
Many farmers did in fact go out of business and were

forced to sell all of their possessions, including their herds
and land, to pay their bills. However, some farmers in the
southeast were saved when farmers in other areas of the
country, who were having a prosperous year, sent them free
hay for their herds. The combination of August rain and
help from more prosperous farmers saved many southeastern
farmers from the crisis of 1986.
6. During the early 1980s, the farmers’ crops became so

plentiful in the United States that .

A) there existed no economic crisis

B) various circumstances appeared

C) they were forced to stop growing crops

D) they had 10 be sold at low prices
7. The farmers in the southeast did not have irrigation sys-

tems because

AJ there was usually enough rain

B) they did not live on crops but herds

C) most of the crops would not die.
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D) farmers in other areas were trying to support them
8. It was that caused the real crisis for the farmers
in 1986.
A) the rising of the prices of fertilizers
B) large quantities of crops
.C) the dry weather
D) the settlement of many people to that area
9. Which of the following statements is NOT true according
to the passage? N
A) In the year of 1986 various problems for farmers oc-
cured in the southeastern part of the country.
B) It was the combination of different factors that caused
the farmers to get into trouble in 1986.
.C) Though there wasn’t enough water, the grass grew
" fine.
D) The farmers in the crisis area did not get over the dif-
ficulty until they were supported by a farm nearby.
10. The farmers went out of business but
A) they faced less crisis
B) they had to move to another area for survival
C) they underwent a lot of disasters
D) they had to pay their bills

Passage C

In 1933 an unknown American called Clarence Nash
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went to see the film-maker Walt Disney. He had unusual
voice and he wanted to do work in Disney’s cartoon films
for children. When Walt Disney heard Nash’s voice, he said
“Stop! That’s our duck!”

The duck was the now-famous Donald Duck, who first
appeared in 1934 in the film The Wise Little Hen. Donald
lived in an old houseboat and wore his sailor jacket and hat.
Later that year he became a star after an eight-minute Mick-
ey Mouse film. The cinema audiences liked him becuase he
was lazy and greedy, and becuase he lost his temper very
quickly. And they loved his voice, when he became angry
with Mickey’s eight nephews. Soon Donald was more popu-
lar than Mickey Mouse himself, probably because he wasn’t
goody-goody like Mickey.

In the 1930s,'40s and '50s, Donald and his friends
Mickey, Goofy and Pluto made hundreds of Disney car-
toons. He also made educational films about the place of the
USA in the world, and safety in the home. Then in 1966
Donald Duck and his voice disappeared — there were no
more new cartoons.

Clarence Nash died in February, 1985. But today’s
children can still see the old cartoons on television and hear

that famous voice.

Notes ;
@ greedy: REH
@ a goody-goody: thE T
- 6 -



11.

12.

13.

14.

15.

Walt Disney .

A) played the part of Donald Duck
B) made Donald Duck films

C) had Donald Duck’s voice

D) drew cartoons

Walt Disney chose Clarence Nash

A) because his voice was right for Mickey Mouse

B) because his voice was right for the duck in a new car-

toon film
C) because he was fond of playing jokes
D) because he was quite humorous
The first Donald Duck film
A ) appeared in 1934
B) was shown in 1933
C) was greatly appreciated in 1966
D) was popular in 1930
Today’s children can see Donald Duck
A) in new films B) at the cinema
L) on television D) in storybooks
Which of the following is NOT true?
A) Clarence Nash had Donald Duck’s voice.
B) People liked Donald Duck better because he was lazy
and greedy and became angry quickly.
C) Donald Duck’s voice disappeared in 1966.

D} dfickey Mouse wasn’t a goody-goody.



Passage D

The world is not only hungry, it is also thirsty for wa-
ter. This may seem strange to you, since nearly 75% of the
earth’s surface is covered with water. But about 97% of
this huge amount is seawater, or salt water. Man can only
drink and use the other 3% — the fresh water that comes
from rivers, lakes, underground, and other sources. And
we cannot even use all of that, because some of it is in the
form of icebergs and glaciers. Even worse, some of it has
been polluted.

However, as things stand today, this small amount of
fresh water, which is constantly being replaced by rainfall,
is still enough for us. But our need for water is increasing
rapidly — almost day by day. Only if we take steps to deal
with this problem now can we avoid a severe worldwide wa-
ter shortage later on. A limited water supply would have a
bad effect on agriculture and industry. Let me give you just
one small example of how necessary water is to industry.
Did you know that to produce a single ton of steel, it takes
about 91,000 litres of water?

We all have to learn how to stop wasting our precious
water. One of the first steps we should take is to develqy
ways of reusing it. Experiments have already lyeeﬁ"ag;é in

this field, but only on a small scale. The systems that have
L] 8 -



been worked out resemble those used in spacecraft.

16.

17.

18.

19.

“The world ... is also thirsty for water.” This means
that

.A) the world has not enough fresh water to meet our

future needs
B) people all over the world are thirsty for water now
C) we are now facing a serious problem of worldwide
water shortage
[3) we cannot make use of all the fresh water on earth
According to the passage, only about of the
earth’s surface is not covered with water,
A) 75% B) 97%
C) 3% D) 25%
We may face a severe worldwide water shortage in the
future because
A) the small amount of fresh water is constantly being
repalced by rainfall
B) some of it has been polluted

C) some of it is in the form of icebergs and glaciers

D) our need for fresh water is increasing rapidly

According to the passage, one of the first steps we

should take to stop wasting our fresh water is

A) to deal with this problem now
B) to have lectures on the subject

C) to develop ways of reusing it



. D) to work out systems that resemble those used in
spacecraft ,
20. This passage is mainly about
A) water and the earth
B) fresh water on earth
.C) water shortage problem
D) experiments on how to reuse {resh water

« 10



